
 

 

 

 
 

[A] Find the amount for each 

a) 4 balls cost Rs 40 find for 1. 
-  

b) 6 Pens cost Rs 36.60 find for 1. 
-  

[B] Multiply by shortcut method 

a) 517 X 600 
 

b) 252 X 800 
 

c) 432 X 400 
 

d) 392 X 500 

 
[C] Which unit is used to measure length and breadth? 
 

 
[D] The sun rise at 6:30 ___________ today am or pm? 
 

 
[E] 4:15 am it is day light or darkness? 
 

 
[F] 4 hours before 8:40 am ____________ 
 

 
[G] Diameter 100 Cm. Radius =__________ Cm 
 

[H] Write the successor of the  given numbers: 
4785 __________ 
 
4150 __________ 
 
4652 __________ 
 
8956 __________ 
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6548 __________ 

[I] Write the predecessor of the  given numbers: 
9874 __________ 
 
8526 __________ 
 
9450 __________ 
 
4896 __________ 
 
6485 __________ 

[J] Write the Roman numerals of the following numbers: 
15 __________ 
 
18 __________ 
 
23 __________ 
 
28 __________ 
 
32 __________ 
 
35 __________ 
 
38 __________ 
 
40 __________ 

 


